50, will be treated as malpractice.

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

USN 15CVS3
Fifth Semester B.E. Degree Examinat; Dec.2019/Jan.2020
Applied Geotechnica ineering

Time: 3 hrs. : , Max. Marks: 80
Note:1. Answer FIVE full questions, cho%jng& e full question from’each module.
2. Missing data may be assumed bly
3. Use of IS:6403 is permitted.
1 a. List and explain various objectiv (03 Marks)
b. What is Borehole Log? With exploration to be enclosed in
Borehole log. (04 Marks)
c. Explain with neat diagram %piﬁhree methods of de atering. (09 Marks)
% OR ’

2 a. What are the objectiv“e%f Dewatering? Explain. (03 Marks)
b. The inner diametgts, 6f a sampling tube and that of a cutting edge are 70 mm and 68 mm
respectively, t%e; ter diameters are 72 min and 74 mm respectively. Determine the inner
clearance, outs (04 Marks)
c sthe, Geophysical methods of“subsoil exploration? Explain in detail seismic
(09 Marks)

e R o determine the stresses in soil?
(03 Marks)
b. s soil mass of large

) Directly und
(i) Atah mé@htal distance of 7.5
Use Boussines 1 = { (06 Marks)
€. Explain the é@s istributi rtical plane due t6”point load from Boussinesq’s
&
(07 Marks)
4 am, the construction of Newmarks chart
. ¢ (08 Marks)
oils for different types of footings. (04 Marks)
'8 m thick. The natural water content is 45%.
,,th€ grain specific gravity is 2.70 and the liquid limit
ent at the centre of the layer due to foundation load is
el at the surface of clay layer. Determine the settlement
(04 Marks)
¢ Module-3
5 earth pressure and passive earth pressure on a retaining wall.

(04 Marks)
b. Explain different types of finite slope failures. (04 Marks)
€. A gravity retaining wall retains 12 m of a back fill. r = 17.7 KN/m’®, ¢ = 25° with a uniform
horizontal sul;fa Assume that wall interface to be vertical, determine the magnitude and
point of applicati

unit weight of soil = 10 kN/m’. (08 Marks)
1 of2
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OR i
a. List the assumptions made in Rankine’s theory to determing Jateral earth pressure in soils.

(04 Marks)
/m ,$=20°¢e¢=0.9 and G =2.67.
. Determme the FOS, with respect to
OS, if the canal is rapidly emptied?
jpectively with respect.to two cases.

b. A Canal is to be excavated through a soil with C
The side slopes is 1 in 1. The depth of canal is;
cohesion when canal runs full. What will t
Taylor’s stability numbers are 0.06 and 0.114,

(06 Marks)
C. How do you locate the centre of critica i ini ? (06 Marks)
a. Explain in detail how bearing ca of soil i i sing BIS method (IS6403).

(08 Marks)
b. How do you consider the effé¢t.of water table on determination bearing capacity of soil.

(04 Marks)

c. quare footing of width 2.1 m with an
can take at a depth 5 m in a soil with r=18KN/m’,
«=35,Nr=42. (04 Marks)
a ectangular combined footiﬂg for uniform pressure under dead load, plus
0ad, using the following data:
il pressure, 150 KN
225 KN/
Colymn loads
ead load (DL)
Distance C/C of columns.?
Projection of footing bHeyond column A # iagram. (12 Marks)
b. i i capacity of soils. (04 Marks)
a. i at di i based on different criteria. (10 Marks)
b. i in fricti it i i ifferent types of soils. (06 Marks)

&
plain the static fo m‘% (10 Marks)

6 pile group K

acing. Neglec% i
terms of pile diameter. Assuming:

determine the optimum value of spacing of the piles in
thear mobilization factor 0.6. (06 Marks)

* %k %k %k %
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